1= #3558 (2B) Tube Fitting (Black)

TH
Tee

- - BRI (Unit): m/m

Y EIME 5 8 RE

PB4-M3 3 |M3x05| 8 |152 | 137 | 32 | 11

PB4-M5 48 |[M5X08| 8 | 157 | 136 | 4.8 2

PB4-M6 s |1ss |14z | s M6X1.0| 10 | 162 | 142 | 44 | 25

PB4-01 PT1/8 | 10 | 174 | 131 | 76 | 4.2

PB4-02 96 | PT1/4 | 14 | 20 15 | 164 | 4.2

PB4-03 96 | PT3/8 | 17 | 20 15 | 195 | 4.2

PB6-M5 48 |M5X08| 8 17 | 155 | 6.6 2

PB6-M6 M6X1.0( 10 | 175 | 155 | 53 | 25

PB6-01 6 |177 [ 138 | 10 PT1/8 | 10 | 18.3 | 146 | 9.6 4

oE PB6-02 96 |PT1/4| 14 | 216 | 17 | 184 | 4
"T PB6-03 96 |PT3/8 | 17 | 217 | 17 | 216 | 4
PB8-01 7 |PT8| 10 | 215 | 18 | 136 | 54

: g y PB8-02 6 | 232 | 147 | 136 | 7| PT14 | 10 | 218 | 186 | 198 | 54
Ul N PB8-03 96 | PT3/8 | 14 | 223 | 172 | 246 | 54
PB8-04 96 | PT1/2 | 17 | 227 | 181 | 38 | 54

o~ [ OH PB10-01 96 | PT1/8| 15 | 229 | 207 | 238 | 5
> <Iﬁ PB10-02 w0 |28 | 16 | 167 96 | PT1/4 | 15 | 247 [ 192 | 254 | 5
\R R PB10-03 96 | PT3/8 | 17 | 247 | 193 | 304 | 5
Metric thread type PB10-04 96 | PT1/2 | 21 27 | 196 | 42 5
AFIFEI PB12-02 96 | PT1/4 | 15 | 274 | 213 | 34 8

PB12-03 12 | 299 [ 195 | 196 | 9.6 | PT3/8 | 17 | 274 | 214 | 36 8

PB12-04 12 | PT1/2 | 21 | 294 | 231 | 472 | 8

THY
BB (Unit): m/m
LT EIME =B ARALE

PB3-M3-NI 33 | 1.1

PB3-M5-NI 3 154 | 127 | 8 | 33 |M5x0.8] 8 | 155 | 138 | 33 2

PB3-M6-NI M6X1.0| 10 | 162 | 142 | 5.2 2

PB4-M3-NI M3X0.5| 8 | 152 | 142 | 32 | 1.1

PB4-M5-NI 48 |M5X0.8| 8 | 157 | 136 | 4.6 2
PB4-M6-NI . 157 | 144 8 M6X1.0| 10 | 162 | 137 | 44 | 25
PB4-01-NI PT1/8 | 10 |17.4 | 131 | 85 | 4.2
PB4-02-NI 96 | PT1/4| 14 | 20 15 | 173 | 4.2
PB4-03-NI 96 |PT3/8 | 17 | 20 15 | 195 | 4.2

PB6-M5-NI 48 |M5x0.8| 8 17 | 155 | 6.6 2
PB6-M6-NI M6X1.0| 10 | 175 | 1565 | 53 | 25

PB6-01-NI 6 175 | 137 | 10 PT1/8 | 10 | 183 | 146 | 104 | 4

PB6-02-NI 96 |PT1/4| 14 | 216 | 17 | 192 | 4

PB6-03-NI 96 | PT3/8| 17 | 217 | 17 | 206 | 4
PB8-01-NI 7 |PTs8| 10 | 215 | 18 | 131 | 54
PB8-02-NI 7 | PT1/4a| 10 |21.8 | 186 | 159 | 54

8 | 231|146 | 136

B PB8-03-NI 96 | PT3/8 | 14 | 223 | 172 | 221 | 54
@ PB8-04-NI 96 | PT1/2 | 17 | 227 | 181 | 269 | 54
PB10-01-NI 96 | PT1/8 | 15 | 229 | 20.7 | 235 5

PB10-02-NI 10 | 266 | 157 | 167 96 | PT14 | 15 | 247 | 192 | 342 5

bﬂﬁe%tﬂz_}tgé;%d type PB10-03-NI 96 | PT3/8 | 17 | 247 | 19.3 | 458 5
PB10-04-NI 9.6 | PT1/2 | 21 27 | 196 | 4538 5

PB12-02-NI 96 | PT1/4 | 15 | 274 | 213 | 42 8

PB12-03-NI 12 | 298 | 193 | 196 | 96 | PT3/8 | 17 |27.4 | 21.4 | 434 8

PB12-04-NI 12 | PT12 | 21 | 294 | 231 | 546 8

NI: £EIREHER

NI:Release Ring (Metallic Body)



;|m.... .
a 5 E
PB4-M3 .
PB4-M5 158 | 142 48 |M5x0.8| 8 |157 [ 136 | 48 | 2
PB4-M6 4 |Mex1.0| 10 [16.2 | 142 | 44 | 25
PB4-01G ‘ ® |75 | ows [ 10 |75 [ 137 | 76 | 42
PB4-02G 159 |13.2 85 | G4 | 14 | 19 | 147 | 152 | 42
PB4-03G 85 | G38 | 17 [204 [194 [184 | 42
PB6-M5 48 |Msx08| 8 | 17 [155 | 66 | 2
PB6-M6 4 |mex10| 10 [175 [155 | 53 | 25
PB6-01G 6 17.7 | 13.8 10 75 | G1/8 | 10 |188 | 15 9.6 4
PB6-02G 85 | G4 | 14 [204 [182 [17.2 | 4
= PB6-03G 85 | G¥8 | 17 |208 |17.9 | 204 | 4
p— PB8-01G 75 | GU8 [ 10 | 22 [187 [ 124 | 54
TP =Ta. PBB8-02G 85 | G4 [ 14 | 21 [184 [186 | 54
- I 8@ S ————————— 8 | 232|147 [ 136
T &) PBB8-03G 85 | G38 | 17 |218 [197 [212 | 54
PBB8-04G 10 | G112 | 21 [236 | 20 |344 | 54
|~ [ oH PB10-02G 85 | G4 | 15 [239 205 [244 | 5
PB10-03G 10 | 262|209 |167 |85 [G3s | 17 [238 [204 | 20 | 5
< N <]__a PB10-04G 10 [G12 [ 21 [254 [201 | 39 | 5
Metric thread type PB12-03G 85 | G3/8 | 17 |256 |225 | 364 | 8
AHFRR “eeizoac | - | P00 0 [ow [21 [ 27 |23 a2 | s
PB
G+NI Tee
oo
5t [ 5 8 iEAE
PB3-M3-NI 3 |M3x05| 8 [152 [ 137 | 33 | 1.1
PB3-M5-NI 3 |154 |127 | 8 [ 33 |msx08| 8 [155 [ 138 | 33 | 2
PB3-M6-NI 4 |Mex1.0| 10 | 162 | 142 | 52 | 2
PB4-M3-NI 3 |M3x05| 8 [152 | 142 | 32 | 1.1
PB4-M5-NI 15.7 | 14.1 48 |M5X08| 8 [ 157 | 136 | 46 | 2
PB4-M6-NI . g |4 [M6X10| 10 | 162 | 137 | 44 | 25
PB4-01G-NI 75 | G18 | 10 | 175 | 137 | 85 | 4.2
PB4-02G-NI 156 | 12.9 85 | G4 | 14 | 19 | 147 | 161 | 4.2
PB4-03G-NI 85 | G3/8 | 17 | 204 [194 | 17.8 | 42
PB6-M5-NI 48 |msxo8| 8 [155 [ 17 | 66 | 2
PB6-M6-NI 4 |mex1.0] 10 [175 [ 155 | 53 | 25
PB6-01G-NI 6 |174 [137 | 10 [ 75 | G8 | 10 [188 | 15 | 104 | 4
PB6-02G-NI 85 | G4 | 14 |204 [ 182 ] 195 | 4
s PB6-03G-NI 85 [ G | 17 |208 [ 179 | 212 [ 4
' ?8 § PB8-01G-NI 75 | GU8 | 10 | 22 | 187 | 147 | 54
- -- il PB8-02G-NI 85 | G4 | 14 | 21 [ 184 | 147 | 54
ol ﬂ PBB8-03G-NI 8 | 2311146\ 136 e Gam | 17 | 218 | 197 | 209 | 54
OH PB8-04G-NI 10 | 612 [ 21 [236 | 20 [ 235 | 54
< R <ﬁ PB10-02G-NI 85 | G1/4 | 15 |239 | 205|282 | 5
Metric thread type PB10-03G-NI_| 10 | 261 [208 | 167 | 85 | G3/8 | 17 | 238 | 204 | 328 | 5
INEIEFRIR PB10-04G-NI 10 [ G1/2 | 21 [236 | 20 [428 | 5
PB1203G-NI | o | 9o | 103 | 196 |85 | G3/8 | 17 |256 | 225 | 438 | 8
PB12-04G-NI 10 [ G12 [ 21 |27 | 23 [516 | 8

-
T

hread

:Release Ring (Metallic Body)




FE #E3EFE (A) Tube Fitting (Ivory)

;... .

2 st EHME £ 8 i

PB4-M3-W 3 |M3x05| 8 [152 | 137 | 32 | 11

PB4-M5-W 48 |M5X08| 8 | 157 | 136 | 48 2

PB4-M6-W s | 158 | 142 | 8 MBX1.0| 10 | 162 | 142 | 44 | 25

PB4-01-W PT1/8 | 10 | 17.4 | 131 | 76 | 42

PB4-02-W 96 | PT1/4| 14 | 20 | 15 | 164 | 42

PB4-03-W 96 |PTas | 17 | 20 | 15 | 195 | 42

PB6-M5-W 48 |M5X0.8| 8 17 | 155 | 6.6 2

PB6-M6-W M6X1.0| 10 | 175 | 1565 | 53 | 25

PB6-01-W 6 |17.7 | 138 | 10 PT1/8 | 10 | 183 | 146 | 96 4

. PB6-02-W 96 | PT1/4 | 14 | 216 | 17 | 184 | 4
2C PB6-03-W 96 | PT3/8 | 17 | 217 | 17 | 216 | 4
PB8-01-W 7 |PTU/B8| 10 | 215 | 18 | 136 | 54

: a2 PB8-02-W 6 | 232 | 147 | 136 7| PTV4] 10 |218 | 186 | 198 | 54
1 e PB8-03-W 96 | PT3/8 | 14 |223 | 17.2 | 246 | 54
PB8-04-W 96 | PT1/2 | 17 | 227 | 181 | 38 | 54

o~ [ o PB10-01-W 96 | PTU8 | 15 | 229 | 207 | 238 | 5
PB10-02-W 96 | PT1/4 | 15 | 247 | 192 | 254 | 5

= \R <Iﬁm PB10-03-W 10012681 16 | 167 o T orais | 17 | 247 | 193 | 304 | 5
Metric thread type PB10-04-W 96 |PT12 | 21 | 27 | 196 | 42 5
AHIFE PB12-02-W 96 |PT1/4 | 15 | 274 | 213 | 34 8
PB12-03-W 12 | 299 (195 | 196 | 96 |[PT3/8 | 17 | 274 | 214 | 36 8

PB12-04-W 12 [ PT12 | 21 | 294 | 231 | 472 | 8

Tee
BE{3(Unit): m/m
2 5t ohE B nEAE

PB3-M3-NI-W 33 | 1.1

PB3-M5-NI-W 3 | 154 | 127 | 8 | 33 |msx08| 8 |155 | 138 | 33 2

PB3-M6-NI-W M6X1.0| 10 | 162 | 142 | 5.2 2

PB4-M3-NI-W M3X0.5| 8 152 | 142 | 3.2 1.1

PB4-M5-NI-W 4.8 [M5X08| 8 |157 | 136 | 46 2
PB4-M6-NI-W s 157 l1aq | s MBX1.0[ 10 | 162 | 137 | 44 | 25
PB4-01-NI-W PT1/8 | 10 |17.4 | 131 | 85 | 42
PB4-02-NI-W 96 | PT1/4| 14 | 20 | 15 | 173 | 42
"PB4-03-NIW | 96 |PT3/8| 17 | 20 | 15 | 195 | 42

PB6-M5-NI-W 48 |M5X0.8| 8 17 15.5 6.6 2
PB6-M6-NI-W MBX1.0| 10 | 175 | 155 | 53 | 25

o.E PB6-01-NI-W 6 |175 [ 137 | 10 PT1/8 | 10 | 183 | 146 | 104 | 4
2-C PB6-02-NI-W 96 | PT1/4 | 14 |216 | 17 | 192 | 4

I PB6-03-NI-W 96 | PT3/8 | 17 | 217 | 17 | 206 | 4
S I %g o PB8-01-NI-W 7 |pTus| 10 [215 | 18 [ 131 | 54
4d-- A e PB8-02-NI-W 7 |Pria| 10 |218 | 186 | 159 | 54

8 | 231 | 146 | 136
- [ h PB8-03-NI-W 96 | PT3/8 | 14 | 223 | 172 | 221 | 54
OH PB8-04-NI-W 96 | PT12 | 17 |227 | 181 | 269 | 54
TIh. 4, meaw se Tors [ ie Taar Tios [ata |
10 | 266 | 157 | 167 — ' - -

Metric thread type PB10-03-NI-W 96 | PT3/8 | 17 | 247 | 193 | 458 | 5
AR PB10-04-NI-W 96 |PT12| 21 | 27 | 196 | 458 | 5
PB12-02-NI-W 96 | PTU4 | 15 |274 | 213 | 42 8

PB12-03-NIW | 12 | 298 | 193 | 196 | 96 |PT3/8 | 17 |27.4 | 214 | 434 | 8

PB12-04-NI-W 12 [ PT12 | 21 | 294 [ 231 | 546 | 8

NI: &/BRRREE

NI:Release Ring (Metallic Body)




Tee
o R

o st T BB RBAE
PB4-M3-W 3 |M3X05| 8 [152 [13.7 | 32 | 1.1
PB4-M5-W 15.8 | 14.2 48 |M5X0.8| 8 |157 |13.6 | 4.8 2
PB4-M6-W . 8 4 |M6X1.0] 10 [162 [142 | 44 | 25
PB4-01G-W 75 | GU8 | 10 [175 | 137 | 7.6 | 42
PB4-02G-W 15.9 |13.2 85 | G1/4 | 14 19 | 147 | 152 | 42
PB4-03G-W 85 | G3/8 | 17 |204 |19.4 | 184 | 42
PB6-M5-W 48 |[M5X0.8| 8 17 | 155 | 6.6 2
PB6-M6-W 4 |M6Xx1.0| 10 [175 [ 155 | 53 | 25
PB6-01G-W 6 |177 |138 | 10 |75 | G1/8 | 10 (188 | 15 | 96 4
PB6-02G-W 85 | G1/4 | 14 |204 |182 | 17.2 4
PB6-03G-W 85 | G3/8 | 17 | 208 |17.9 | 204 4
2.E PB8-01G-W 75 | G1/8 | 10 | 22 [187 | 124 | 54
2-C PB8-02G-W 85 | G1/4 | 14 | 21 | 184 | 186 | 54
PB8-03G-W 8 282 | T\ B8 e T Gas | 17 | 218 | 197 | 212 | 54
T gglg PB8-04G-W 10 | G2 | 21 |236 | 20 | 344 | 54
dH=== e PB10-02G-W 85 | G1/4 | 15 |23.9 | 205 | 24.4 5
ne ﬂ ﬂ\_ PB10-03G-W 10 26.2 | 209 | 16.7 | 85 | G3/8 17 238 | 204 29 5
OH PB10-04G-W 10 | G1/2 | 21 |251 |20.1 | 39 5
<]ﬁ PB12-03G-W 85 | G3/8 | 17 |256 |225 | 36.4 8
= R R PB12-04G-W 121299 119451 196 10 | G172 | 21 27 23 | 44.2 8
Metric thread type
NHEIZFRN

NI Tee

=ee......

5 =t e £ B rEAE
PB3-M3-NI-\W 3 |M3x05| 8 |152 | 137 | 33 | 1.1
PB3M5SNIW | 3 | 154 | 127 | 8 | 33 |msx08| 8 | 155 | 138 | 33 | 2
PB3-M6-NI-\W 4 |mex1.0| 10 162 | 142 ] 52 | 2
PB4-M3-NI-\W 3 |maxos] 8 [152 [ 142 | 32 | 1.1
PBA4-M5-NI-\W 15.7 | 14.1 48 |M5x08] 8 [157 | 136 | 46 | 2
PBAMENLW |, g |4 |Mex1.0] 10 | 162 | 137 | 44 | 25
PB4-01G-NI-W 75 | cus | 10 175 | 137 | 85 | 42
PB4-02G-NI-W 156 | 12.9 85 | Gl/a | 14 | 19 | 147 | 161 | 42
PB4-03G-NI-W 85 | G3/8 | 17 | 204 | 194 | 178 | 42
PB6-M5-NI-\W 48 |Msx08| 8 |155 | 17 | 66 | 2
PB6-M6-NI-\W 4 |Mmex1.0| 10 | 175 | 155 | 53 | 25
2E PB6-OIGNIW | 6 | 174 | 137 | 10 | 75 | Gie | 10 [188 | 15 | 104 | 4
2-C PB6-02G-NI-W 85 | Gl/4 | 14 | 204 | 182 | 195 | 4
T T PB6-03G-NI-W 85 | Ga/8 | 17 |208 | 179 | 212 | 4
' | 88 § PB8-01G-NI-W 75 | 618 | 10 | 22 | 187 | 147 | 54
dd--- e PB8-02G-NI-W 85 | G4 | 14 | 21 | 184 | 147 | 54
T g | 231 | 146 | 136
ol ﬂ PB8-03G-NI-W 85 | G3/8 | 17 | 218 | 197 | 209 | 54
OH PB8-04G-NI-W 10 | G1/2 | 21 | 236 | 20 | 235 | 54
< & <]%Im PB10-02G-NIW| 85 | Gl/a | 15 | 239 | 205 | 282 | 5
Metric thread type PB10-03GNIW 10 | 261 | 208 | 167 | 85 | G | 17 | 238 | 204 | 328 | 5
NE[FEISR PB10-04G-NI-W 10 | 612 | 21 [236 | 20 | 428 | 5
PBI2OSGNFW [ oo | 105 | 106 |85 | @38 | 17 | 256 [ 225 [ 438 | 8
PB12-04G-NI-W 10 |62 |21 |27 | 23 | 516 | 8

-BSPP-Thread
~DOt +f G

T e

I:Release Ring (Metallic Body)






